Chapter 25

Problem 25-1
Net present value = $10,176

Problem 25-2
Net present value = $3,192

Problem 25-3
Net present value of Proposal B = $6,660

Problem 25-4
Net present value of Proposal A = $6,460 

Problem 25-5
Return on average investment of Proposal B = 18.6%

Problem 25-6
Payback period = 2.7 years

Problem 25-7
Net present value = $1,350

Problem 25-8
Net present value of the chair lift = $19,720

Problem 25-9
Return on average investment of the modem bank = 25%

Problem 25-10
 Net present value $7,886

